#### **RESOLUTION NO. 2024-221**

RESOLUTION OF THE TOWNSHIP OF LITTLE EGG HARBOR, COUNTY OF OCEAN, STATE OF NEW JERSEY, AUTHORIZING THE EXECUTION OF CHANGE ORDER NO. 1 (FINAL) FOR RECREATION AND SITE IMPROVEMENTS AT THE RECREATION COMPLEX TO SHORE TOP CONSTRUCTION CORP.

WHEREAS, a contract was previously awarded to Shore Top Construction

Corp. for Recreation and Site Improvements at the Recreation Complex; and

WHEREAS, the original contract for said improvements was in the amount of \$990,206.00; and

WHEREAS, the governing body wishes to authorize Change Order No. 1 (Final), which will result in a decrease in the contract price of \$10,646.80, based on as-built quantities for the project as shown on Schedule A attached hereto and made a part hereof, which is a 1.08% decrease for a new total of \$979,559.20; and

WHEREAS, this change order has been recommended by the Township Engineer; and

WHEREAS, it is the desire of the governing body to authorize the execution of this change order.

NOW, THEREFORE, BE IT RESOLVED, by the governing body of the Township of Little Egg Harbor, County of Ocean, State of New Jersey as follows:

1. That the governing body does hereby authorize the execution of Change Order No. 1 (Final), which will result in a decrease in the contract price of \$10,646.80, based on as-built quantities for the project as shown on Schedule A attached hereto and made a part hereof, which is a 1.08% decrease for a new total of \$979,559.20.

## rmshc

Rothstein, Mandell, Strohm, Halm & Cipriani, P.A.

98 East Water Street Toms River, NJ 08753

> o: 732,363.0777 f: 732,905,6555

- 2. That the Mayor is hereby authorized to execute and the Township Clerk to attest to, respectively, an addendum to the contract with Shore Top Construction Corp., in accordance with the provisions of this resolution.
- 3. That a certified copy of this resolution, together with a copy of Change Order No. 1 (Final), be forwarded to the Chief Financial Officer, Township Engineer and Shore Top Construction Corp.

### CERTIFICATION

I, KELLY LETTERA, CMC, RMC, Municipal Clerk of the Township of Little Egg Harbor do hereby certify that the foregoing resolution was duly adopted by the Township of Little Egg Harbor Township Committee at a meeting held on the 12th day of September, 2024.

KELLY LETTERA, CMC, RMC

Township Clerk

Little Egg Harbor Township

r|m|s|h|c

Rothstein, Mandell, Strohm, Halm & Cipriani, P.A

98 East Water Street Toms River, NJ 08753

> o: 732.363.0777 f: 732.905.6555

#### ADDENDUM TO CONTRACT

	THIS	ADDEN	DUM made 1	this	day of		, 2	024,
by and b	etween the <b>T</b>	OWNSH	HP OF LIT	TLE EGG	HARBOR, a	municipal o	corporati	on of
he State	of New Jer	sey, havii	ng its princip	pal offices	located at 665	Radio Roa	ad, Little	Egg
Harbor,	New Jersey	, 08087,	hereinafter	referred to	as "Townshi	p," and S	HORE	TOP
CONST	RUCTION	C <b>ORP.,</b> v	vith a busines	ss address o	f 23 Yellowbro	ook Road, F	Freehold,	New
Jersey 0	7728, hereina	fter refer	red to as "Co	ontractor."				

#### WITNESSETH:

WHEREAS, a contract was previously awarded to Shore Top Construction

Corp. for the Recreation and Site Improvements at the Recreation Complex Project; and

WHEREAS, the original contract for said improvements was in the amount of \$990,206.00; and

WHEREAS, the governing body wishes to authorize Change Order No. 1, which will result in a decrease of \$10,646.80 in the contract price, representing supplemental work and final as-built quantity adjustments as shown on Schedule A attached hereto and made a part hereof, which is an 1.08% decrease for a new total of \$979,559.20; and

WHEREAS, this change order has been recommended by the Township Engineer and agreed to by the contractor.

NOW THEREFORE, be it agreed between the parties as follows:

 The Township and the Contractor do hereby amend the original contract between the parties for the for the Recreation and Site Improvements at the Recreation Complex Project to provide for a decrease of \$10,646.80 in the contract price, representing

## rmshc

Rothstein, Mandell, Strohm, Halm & Cipriani, P.A.

98 East Water Street Toms River, NJ 08753

> o: 732.363.0777 f: 732.905.6555

supplemental work and final as-built qu	antity adjustments as shown on Schedule A attached			
hereto and made a part hereof, which is	an 1.08% decrease for a new total of \$979,559.20.			
2. That the parties do	hereby authorize the execution of this addendum.			
WITNESS & ATTEST:	TOWNSHIP OF LITTLE EGG HARBOR			
	Ву			
KELLY LETTERA, CMC, RMC Township Clerk	BLAISE SCIBETTA, Mayor			
INC.	SHORE TOP CONSTRUCTION CORP.			
Secretary (Seal)	ByPresident			

# r|m|s|h|c

Rothstein, Mandell, Strohm, Halm & Cipriani, P.A.

98 East Water Street Toms River, NJ 08753

> o: 732.363.0777 f: 732.905.6555



#### YOUR GOALS, OUR MISSION.

August 13, 2024

VIA EMAIL AND REGULAR MAIL

Kelly Lettera, Township Clerk Township of Little Egg Harbor 665 Radio Road Little Egg Harbor, NJ 08087

Re:

T&M File No. LEHT-01927

Project Close Out

Recreation and Site Improvements at the Recreation Complex

Township of Little Egg Harbor, Ocean County, NJ

Dear Ms. Lettera:

Enclosed please find the following for the above referenced project:

 Four (4) originals of a Change Order No. 1 (Final) adjusting the contract quantities to the Contractor, Shore Top Construction Corp., based on as-built quantities for the above referenced project. The contract is being decreased from the original contract amount of \$990,559.20 to \$979,559.20, which is an 1.08% decrease.

The enclosed document has been executed by the contractor and T&M as required. After the change order is executed, please return three (3) originals to our office and retain one (1) for the Township's records. By copy I am requesting Melanie Szuba, Township Attorney prepare a resolution suitable for adoption at the next available committee meeting. I trust the above is in order and satisfactory for the Township of Little Egg Harbor to process the enclosed change order.

Should you have any questions relative to this matter, please feel free to contact me at your convenience. entruly yours

JASON A. WORTH, P.E., P.P., C.M.E.

JOWNSHIP ENGINEER

JAW:Is Enclosures

CC:

Rodney Haines, Township Administrator/CFO (via email)

Melanie Szuba, Township Attorney (via email)

G:\Projects\LEHT\01927\Correspondence\KL\_JAW\_Change Order #1.docx

#### CHANGE ORDER NUMBER - 1 (FINAL)

RECREATION AND SITE IMPROVEMENTS AT THE RECREATION COMPLEX Project TOWNSHIP OF LITTLE EGG HARBOR Municipality County OCEAN COUNTY SHORE TOP CONSTRUCTION CORP. 23 YELLOWBROOK ROAD FREEHOLD, NJ 07728 Contractor

n accordance with the project Supplementary Specification, the following are changes in the contract.  Location and Reason for Change (Attach additional sheets if required)										
J. I.O. I.E.	rges required to reflect as-built quantities for the project.		QUANTITY & UNIT		UNIT PRICE	AMOUNT				
SUPPL	EMENTAL WORK			1995/201	Salaran Cross Co.	A CHARLE WINDOWN WARRANT				
10	HOT MIX ASPHALT 19MG4 BASE	COURSE, 2.5" THICK	61	TON	\$100.00	\$6,100.00				
12	HOT MIX ASPHALT 9.5MG4 SUR	ACE COURSE, 1.5" THICK	11	TON	\$100.00	\$1,100.00				
17	TRAFFIC STRIPING, THERMOPLASTIC, 24" WIDE		65	SF	\$10.80	\$702.00				
REDUC	TION									
4	FUEL PRICE ADJUSTMENT	2500	DOLLARS	\$1.00	\$2,500.00					
5	ASPHALT PRICE ADJUSTMENT	ASPHALT PRICE ADJUSTMENT			\$1.00	\$2,500.00				
6	EXCAVATION, UNCLASSIFIED	56	CY	\$10.00	\$560,00					
7	DGA BASE COURSE, 4" THICK		28	SY	\$3.00	\$84.00				
8	DGA BASE COURSE, 6" THICK		25	SY	\$4.00	\$100.00				
9	TACK COAT, 64-12	211	GAL	\$1.00	\$211.00					
1.1	HMA 9,5M64 SURFACE COURSE	20	TON	\$100.00	\$2,000.00					
13	12" X 18" FLUSH PERIMETER CO	28	LF	\$35.00	\$980.00					
14	CONCRETE PAD, REINFORCED.	196	SY	\$90.00	\$17,640.00					
16	TRAFFIC STRIPING, LONG LIFE,	36	LF	\$1.80	\$64.80					
19	WOVEN STABILIZATION FABRIC	1375	SY	\$2.00	\$2,750.00					
20	CHAIN LINK FENCE, 8' FENCE		28	LF	\$100.00	\$2,800.00				
27	PICKLEBALL WINDSCREEN, 8' H	IGH	129	SF	\$13.00	\$1,677.00				
33	DECORATIVE RIVER STONE, 4" 1	HICK	9	SY	\$30.00	\$270.00				
34	PERMEABLE WEED BARRIER		9	SY	\$2.00	\$18.00				
A.3	EXCAVATION, UNCLASSIFIED	EXCAVATION, UNCLASSIFIED			\$10.00	\$1,230.00				
A.4	HMA 9.5M64 SURFACE COURS	8	TON	\$110.00	\$880.00					
A.5	DGA BASE COURSE, 4" THICK	DGA BASE COURSE, 4" THICK		SY	\$3.00	\$534.00				
EXTRA	WORK									
E-1	ELECTRIC FOR PAVILION		1	LS	\$18,250.00	\$18,250.0				
		93700 (J. 1970 <u>0</u> 0000 1970)		6	utan	\$26,152.0				
Amou	Amount of Original Contract \$990,206.00			Supplemental/E Reduction	ALIG	\$36,798.8				
Adjusted Amount Based on Change \$979,559.20 Orders			Total Change		\$10,646.8					
% Cha	inge in Contract	-1.08%	200							
((+) In	crease or (-) Decrease)		*****							

(Contractor)

(Date)

8/12/24 (Date)